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[!]. Calculate the axial force of member BH, CH and HF of the truss with 8 joints in
Fig. 1. Support A is a hinge, support F is aroller.  (15%)

[2]. Analyze the frame shown in Fig.2. Use slope deflection method or consistent
deformation method only. Draw the bending moment diagram. (35%)

[3]. Analyze the frame shown in Fig.3. Use moment distribution method or direct
stiffness method only. Draw the bending moment diagram. (15%)

[4]. Solve the problem shown in Fig.4. Use matrix displacement method only. Draw
the bending moment diagram. (35%)
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